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��������� ������ ��℄ ���� �������� �������� !�����!� "���#� $���%���$�� ������ ����&
���� �����'� �" "�����%!��� (���$�������$ )*��$!� �����%� !��#*�� !� 
���%���!� ���)��� +
$!�!��� � ��!' !#����� !��!����'�� �� �"�����!% 
��!���"!����� � )*��$�' ������,������'
�����%� !��#*��+ 
����!)����% -.��!�!% �	℄+ ��℄ /�%� ��$)� �0℄1� ����!� 
��!���"!�����+ ���!&
%����!+  �� ��� �����% 
! �����'��% 
��#���%� �!&
����(+ %����$�+ �����'�� �" .�!2! 
��&
!���"!���� + $�$ ��"  �� ��� %����$!� )*��$!� ��$!����!� � �����'���� �����%� !��#*��
/�%� �	℄+ ��+ 
� 0�0+ �!�%��� /���5�1 � 
!
���$!� �� !��������� � 678 $����"�� 
�!���������&
���%���℄� �!&��!��(+ �!��������� ��$!����� � �2�!�� �$!�!��� ������,�����!� �����%� s � .�!�
%����$� �!�
���'� � ��"�����%! ��#�������%  ��!% 2������!�� ��������"�%����!2! 
��!���&
"!���� 9!���,�+ $!�!�!� �� "����� ���+ %2�!����! �!
������'��� s+ ����,������� �����%� !�&
�#*�� � %!%���� t � t+∆t �!!����������!+ $�$ �$�"��! � �:+ �� 	��+ "���#� ��	:℄�

7�% �� %����+ (!� � ��� 
��#�� �!%������� � �
��������!��� .�!2! 
��!���"!���� + �!+ 
!&
�$!��$� .�! 
��!���"!����� ��* ���������� + %!)�� 
!$�"���� + #�! �������� !�����!� "���#�
$���%���$� ��* ���!����!#�! !�!��!����� 6�%� )� .�� �������� ��!�(!��%� �� !
�������� 
"�$!�� ���)��� ������,�����!� �����%� !��#*��+ �%�'��� "������� (���$�������$�� ;!.�!&
%�+ �� �!��� ���*)�!2! 
!�����)���� + ��)�! ������� �( ���2�% �
!�!�!%� 7�$!� �
!�!� �����

!$�"�� � 
� 	+ �!+ 
������������!+ � 
� � ����!� ������ 
�������� ��$!�!��� 
!��"��� �!�%�&
��+ $���'���� $���%���$� �������� � �!�������!2! ������� ��2���� �5℄+ ��+ �!�%��� /	�1℄+
$!�!�!� �!"��$��� � ���)����� �����%� !��#*�� 
�� �!���<���� ����� �" !��!� ���!���!��!�
�����%� � ���2�'�

-���!��� !���� �!"%!)�!� ���)���� )*��$!� ������,�����!� �����%� !��#*�� �������� !
��&
��� �� ����������!+ � 0&%���!% ����� -�
��%��+ �� 
� %!������!2! ���)��� ����!��$!���&
�!� �����%� !��#*�� /� ���!���!��!� �����%�1 ���!��� �* ����!��$!����!��� !��#�! �!�%�&
������� � ���� !��!2! 0&����������!2! ��������� & 
!��! ����� $������� 0&��$�!�� ��$!���� 
dΛ0i/dt · dΛ0

i/dt + 2�� t & ���� �!�������!� ���% ��#��� !��#*��+ � Λ0i & ���� ��$�!� 0&�$!�!��� �=+
�� 0�+ "���#� $ 
� 5℄� �� ����!��� )� !���2! $���!������!2! ���)��� 
�!�"�!���!� )*��$!�
�����%� !��#*�� !��!2! ��$!2! ����!����  ��! ���!����!#�!� >�� ���!�� �!�)�� �� "�����
$!%
!����� 0&��$�!�!�+ $!�!��%� !������� ���)��� � �����%� !��#*�� � �!��������%� ����&
������%� ����!� �����%� !��#*��� ;!.�!%� �������� �� 0&��$!���� dΛ0i/dt = ai � 0&���"!��
������� ��+ �!�%��� /:�	�1℄+ $!�!��� �� 
����� �"2� � � $�#����� .��( ���!��� %!)�! ���! ��
��
!��"!����+ � ����!% ���#�� ���
!��"��� 8��! �" ��$!%�( ���!��� /�� #����!2! ���#� �����&
%� !��#*��+ �����'���� � #���!�!� �!�������!� 
��,����� 7!%���1 ���! ���! � ���+ �!�%���
/��	=1℄� ;!��!���' ������������ ���!�� ���)��� ����� ���� � 
� 	� ?���2� �
��*�+ �$�)�%+ #�!
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�
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 ��	�� ��"��#�� ������
�!� $������	����%�� ����"���
!	��� ��
���
�	� � �� &� ' 	
����%��
����(���� ��	�#����	� ��"

�
� ��#�� ���)�		
�� *���	� 
 ���%��
�� '
(���� ��	��
!�� ����
��� �����
� 
��(�� 	��+
���� ���( 	 ���(��� ,���� ��(� � �� � ����� ��		������ "���� ���%��
�
	��	������� ������� 	
	���� ��	���� ������� ��	�#��
	� � -� �����
� ./�001℄ -00 �����
�
.�1 ./1℄�

�� ������	�
� ��
���	�
 � 
������� �������

3�����
� �������
��
!�� ��������� 	�����
� 
" �
�����
�
 ���������� 4�
 �������� 	
	���
�� �����
��� �����( ��
�
���(� ������� n ���������� ������� r(s) � ����
!��� 	
	���� s 

	�	���
��%
� ���(� #� ������� r(s′) � �������� 	
	���� s′ 	��"��� �����	����

rα(s) = aβαr′β(s′), .0�01

(�� (����	�
� 
����	� ��� ������ �����(��� "�����
� 0 5 & � ����
)� �������� aβα � �����
�
�����6 �	! �������� n  �(�
 �������� φ 
���� �
�

aβα = δαβ cosφ+ nβnα(1 − cosφ)− eαβγnγ sinφ . .0�51

'� 
"��#��
� ������"����
� ���������� ��� "��	! 
 ��
�� ��
���� ��		
���� ����� "���
� ��
�������� 	�(
�	�� ������� ���%���	� 	
	���� �����
��� � 	�� ������ �	����	� ��
"������� 4�

���� �
� 
���� ����
)� �������� aβα 	������

�� 	�����+��
� ����(���
!��	�


aβαaγα = aαβaαγ = δβγ .0�&1


 �����	��� 7��
���#��
�8

eαµνaµβaνγ = eµβγaαµ, eαµνaβµaγν = eµβγaµα. .0��1

9���
)� ���%��
� aβα(t) ����
�������� �������
�

daαβ

dt
= −eαµνω′µaνβ , .0��1

(�� ω
′ �	�! �(
���� 	����	�! � 	
	���� s′

ω′ν =
1

2
eαλνaλβ

daαβ

dt
. .0�/1

��		����
� 	����	 ��
#��
� 
���)
�
!��� 	
	���� ��	���� s′ 	� 	����	�!� v(t) ����	
��
!��

����������� 	
	���� ��	���� S� �	

 
���)
�
!��� 	
	���� s′ ��
���
������ ���
� ����"�� 
��� �������"����
� ���	����	���������������� �����
��� 
" S � s′ ��
���	� �
	��� ��	��� ��
�	
���� (����
�	� � ��� ��� 	
	���� s′ ��
���
������ 7��" ��������8 ����	
��
!�� S� 4�������
�����! � ����� 
����������� 	
	���� ��	���� S∗ ������� ��
(���	� 	� 	����	�!� u 7��" �������
��8 ����	
��
!�� S� ;���+� 
"��	��� ��� � ����� 
����������� 	
	���� ����
� ��	���� 	
	����
s′ ��
(���	� 	� 	����	�!� ."��	! 
 ��
�� ��
������	� 	
	���� ��
�
) � ������� c = 1 1

v
∗ =

√
1− u2 v − u

1− uv
+

(1 −
√
1− u2)(uv)u

u2(1− uv)
. .0��1

<����� ���"�����	� ��� �������"����
� 
" S∗ � s′ �� ��
���	� �
	��� ��	���� =��(
�
 	
����

��� �"������ ��� ����� ��
��
�! 	
	���� �����
��� s′ �	
 ����� 	
	���� ��	���� s ��
���
���
������ 7��" ��������8 ����	
��
!�� S∗ .������� ��
(���	� 	� 	����	�!� v(t) 
" .0��11 �������	�
�%� ��������! �� ��������� �(�
 φW �����( ��������(� ��
�
���(� ������� n� =���
!�� �

����
��	��� ������� �� "��	! ���	�
� �����#���� ��� ���� 	��	������� ������� ����� .	�� -> ����
��
� .5?1℄ -05 �����
� .�51℄1

n tg
φW

2
= n

sinφW

1 + cosφW

=
u× v

(

1 +
√
1− u2

) (

1 +
√
1− v2

)

− uv
. .0�>1



�� ���� ������

���� ������� 	
��
�� �������� ��������� 	�
����� �	
� u ��
�� ��

n φW =
1−

√
1− v2

v2
u× v. �����

������
 �������� ������� � ����!�� bβαW � ��"� !�� ����� ���
#��� � ����

rα(s) = bβαW r′β(s′), ����$�

%
# ��
��� 
�
� φW ������� �������� ���&� �	��

bβαW = δβα − eαβγnγφW = δβα +
1−

√
1− v2

v2
(vαuβ − vβuα). ������

'� ������
���( ���)� 
�
���# 	"���	�� ���*���# ������� �	��

ω′ν
W =

1

2
eαµν bµβW

d bαβW
dt

. ����&�

'��	���
## 	(�� ������ ��

!��� !�� ��� �����

ω
′

W =
d (n φW )

dt
=

(1 −
√
1− v2)2

v4
√
1− v2

(vv̇)u× v +
1−

√
1− v2

v2
u× v̇. ����+�

��		������ ������ � *�- 	

!�- ���.���# �������
���- 	�	����� "���� ��� �� ����!�� �/
k� ���
� ��
�
( ���������( ����	���
��� 	�	���� S� !�� 	�	���� 0 �� ��������1 s′� %�
����
	
������ �
	�� "��������� ��"���� r(s′) � ��!�
���- 	�	���� s′ � 	�	���
#(*�� 2���� .� ��"����
r(k) � 	�	���� k 	�#���� �����	����

rβ(s′) = aγβrγ(k). ����3�

'��	����� ����3� � ����$� ��

!��� !�� ���

����
(*�# ������� �������� ��.�
 ��!�
���- 	�4
	����- s � "���!��- 	�	����- k �	��

a∗γα = aγβbβαW . ������

5�"�� � ������ ��������� 	�	���� ��	!/�� k� "�����# �������	# 	� 	"���	��( v � ����� ���4
������( aγα ����	���
��� S� ��� !�	���  
	�� 	� 	"���	��( u ���� ���
(�	# �� ��"���� ���6��
�������

�� ��������	�
� �
����� �������� �������������� 
�
	��
 �	
��	�

��		������ ������ 	
��
(*�� 3 ��
�!���� 	�	��#*�� �� 3 "��������� ��� �����- ����"	 

"�.���� 	����
� ����!��� �� ��� ������ �����- 4 �� ��� "��������


Λ0i = (Λ00,Λ0α) =

(

1√
1− v2

,
vα√
1− v2

)

, �&���

Λαi = (Λα0,Λαβ) =

(

vγaαγ√
1− v2

, aαβ +
1−

√
1− v2

v2
√
1− v2

vβvµaαµ

)

, �&�&�

� vα 4 �	�� +4��"��� 	"���	�� ��!�
� ��	!/�� ���������
���- 	�	����� 7���
��� ���������� !��
������ ��
�!��� 
���
�����#(� 	�����8���#� ����������������	��

Λ0iΛ0

i = 1, Λ0iΛα
i = 0, ΛαiΛβ

i = − δαβ. �&�+�

9 ��������!�	"�- ��!"� �����# Λ0i � Λαi #�
#(�	# "�2����������� � � *�� ���� ���������
;������ �� ��"�- 
� ��������- 	�	���� ��	!/�� S< (T,R) � �������
��
( 	�	���
 s′ : (t, r′)

T = Λα0r′α + Λ00t, Rβ = Λαβr′α + Λ0βt.

�	
� ��		��������� r′α � t "�" ���������� �� �� ������
���# ��
�!�� Λαi = dX i/dr′α �
Λ0i = dX i/dt ���� X i = (T,R)� ������ !�� ��� #�
#(�	# 34��"������� =���� ����� ��� 
( ��



���������	� 
���
�������
� ������	 ������� 
�
 �����������	 ��

���������	
 ���	���
	����� �
 	���� ������ �	����� �������� Λαi � Λ0i (i = 0, 1, 2, 3) ���	��
��
����� � �������� �	� �� 
���
�������	� �	�
�  !"#$�  !"!$" %�� &	�	'	 �
�����	� �����	�
����	� Λ0i �������� ���
��	�	(	���
 ����	�	
 )���	�	��� ������ �����
� s′" *�	 �
��� 
�����
������ � �	
� ��	 	� �������� �(������
 � �������+��
 � 
��	�	� ����� ������ 	���,�� �������
����+�	� �����
� s′" )�����	� �� Λαi ���(�������� �	�	� ��	�����������	�	(	���� 	�� α�� 	��
�����
� �		�(���� s′" -	�����
 �����+ ��	�
��(����

W ′γ = Λ0

i

dΛγi

dt
,  !")$

Ω′γ = −1

2
eαµγΛµ

i

dΛαi

dt
.  !"�$

. 
��	����	 �	����������� ��������+�	� �����
� 	���,�� /�� ��	�
��(���� ����� W ′γ = aγβ v̇β

� Ω′γ = eαµγaµβ ȧαβ/2 � �"�" �������� �	��������
 ���	�����
 � �	�������	� ���	�	� ��	�	��+�
s′ �		����������	" . ���� )�����	��	��� ������� Λαi � Λ0i� (����� ��������� ��(�� ���	����+��
� ���	� �����
� 	���,��" 0�	 	
������� ��	 ���������  !")$�  !"�$ �������� ���	
�
� ����
����
�����
�� ������������� �����������
� ���	���
� (������� (���	� ����������+�	� �����
� �
�
������
� &�������������
�" 1�	(������������
  !"!$ � �	(�����
 (����� 
������� �  !")$"
1	��� ��������� ��	�	�� ����	�	
������� ��(���	�� �����(���� �	(	���& ����	� � ���	�+
	���
��� ��������  #")$ �  #"�$ �	����
 	�	������+�	

W ′γ = aγα

[

v̇α√
1− v2

+
1−

√
1− v2

v2(1− v2)
(vv̇)vα

]

.  !"2$

3������� ����	����	 �����(�	 �	�����+ �
  !"�$

Ω′γ = aγα
1−

√
1− v2

v2
√
1− v2

eαµνvµv̇ν + ω′γ .  !"4$

5��������  !"2$ �  !"4$ �	��� 
�
��� vα = aβαv′β ��	(���� � ���������
 	�����	� 
�(��� �����

������ ��� �	��
��	 � 6#℄"

�� �������	 �����
�	��	
�
���� �	�	��������� ������� ������	

3�� �	��	� �������	��� �	�
��� �	�������	�	 ���	����� � �	�������	� ���	�	� ��	�	���
 !")$�  !"�$ ��	�&	(�
	 ��	�����+" 1	 ��	�
� �
���� /�� �	�
��� ���������� �������� ����	���
���
 ���

���	��� &������������ �����
� 	���,�� s′ 	� ����	�" -��(	�����+�	� 
	��	 
������+�
��	 � �	�	� ���	���	��	� �����
� 	���,�� S∗ � � ����	� �����
� S �	�������	� ���	����� � ���	�
��� ��	�	��+ �����
� s′ (	���� ���+ ��� �	(����	���  #"4$�  #"#�$ �����
�" % �	�������� �����
���
�� �	(����	��� � ���������  !"4$�  !"2$  �(� ��� �������� �	(��
�
������� �	 
�,
(	���
�$
�	�
��  #"4$�  #"#�$ ����	(�� � ��	
	
(��
 ����������
" 8��(� ��
 
�
���
� ��	 ��	�
�	�+���
���� 
	��	 ����
�������+ ��� �	
�	
���� 
�	������ ��	�
�	�+��& ����	����	 
���& ����	�"
1	/�	
�� ��	�� �	��
��+ � 	���
 ������ ������(���	��+ ��������  !"4$�  !"2$ (	����	��	 (	��
��+
�& ���	������ (�� ��������
�
��+�	�	 ���	���
	����� �	�����" 3�� ���	�	 ���	���
	����� �

 #"4$ ��(�	� ��	

v
∗ = v(1 + uv)− u, v̇

∗ = v̇(1 + uv) + v(uv̇).  9"#$

1�� �	(����	��� � ���������

W ′γ = a∗γα

[

v̇∗α√
1− v∗2

+
1−

√
1− v∗2

v∗2(1 − v∗2)
(v∗

v̇
∗)v∗α

]

�	�
��  9"#$� � �����  #"#�$ �  #"##$� �	��� ���	�	��& �������������& ���	���
	����� �	����
�
��	 
���
��������� �	�
� �������� W

′ �� �

������+

W ′γ = aγα

[

v̇α√
1− v2

+
1−

√
1− v2

v2(1− v2)
(vv̇)vα

]

.



�� ���� ������

������	
�� ��
������������ ���������� ����� 	 ������ � ������ �	���!��"	!�� 	 �
	�����
�!�������#����# ���!	"� $	���!�� ����!�� ������	
�� �!�����	% ���&� ����
	�� 
��

Ω′γ = a∗γα
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν + ω′∗γ =

= (aγβbβαW )
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν +
1

2
eαµγ(aµνbνλW )

d

dt
(aαβbβλW ) =

= (aγβbβαW )
1 −

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν +
1

2
eαµγ

[

aµνaαβbνλW ḃβλW + aµν ȧαβ(bνλW bβλW )
]

=

= (aγβbβαW )
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν +
1

2
(eαµγaµνaαβ)bνλW ḃβλW +

1

2
eαµγaµν ȧαβδνβ .

'���� �� ���!�� ��������� �
�(� ��!��� 	� !������� )��	
��*��	�)���+� 	 ����� ,���� !��������
������

Ω′γ = (aγβbβαW )
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν +
1

2
eτβνaγτbνλW ḃβλW +

1

2
eαµγaµβ ȧαβ =

= (aγβbβαW )
1 −

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν + ω′τ
Waγτ +

1

2
eαµγaµβ ȧαβ =

= aγβ

[

bβαW
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν + ω′β
W

]

+
1

2
eαµγaµβ ȧαβ . �&���

�������!	� �����#�� ��!�*��	� ����.�� � �!���/ 
���	 �&��� � ����!����0 ���1��0� 2���������
�%�� ������� ����&�� �&��� ����
	� ����� ������!�0 ��
	����	/� 
��

bβαW
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν + ω′β
W =

1−
√
1− v2

v2
√
1− v2

eβµνvµv̇ν +
(1−

√
1− v2)2

v4
√
1− v2

kβ,

��� �����! k � ���������� ����!��� �0��	� � �!���% 
���# ,���� !��������� ���	�	� �� �����!��
v� v̇� u 	 !����

k = v2v̇ × u+ (uv)v × v̇ − (vv̇)v × u+ [v̇(v × u)]v.

'���*��� 
�� ,��� �����! !���� ���%� '�� ,���� �����	�� 
��

kv̇ = kv = ku = 0.

3��	 �����!� v̇� v � u �� ��*�� � ����/ ��������	� �� ,�� �����*�� ���#�� � ��� ���
��� �����
��� �����! k ��*��������� !���� ���%� 3��	 *� ������ �����!� ��������!��� �� v̇(v × u) = 0�
$ ,��� ���
�� ��� �����
	��� �����!��� ��������� � k ��*�� �� ����/ ��	 	 ��	�� �����!� k

��*�� ���
	���# �� ��!������	% �����!���� 	 �����!���� �!�	������	�� 2���# ���� ��*�� v̇ 	
u ���# ϕ1 � � ��*�� v 	 u ���# ϕ2 � 4���� ��1	!�� ����*	���#��� ���!�����	� �����!� v × v̇

	����
|k| = v2v̇u [− sinϕ1 + cosϕ2 sin(ϕ1 + ϕ2)− sinϕ2 cos(ϕ1 + ϕ2)] = 0.

5���������#��� � �%1�� ���
�� k = 0 	

bβαW
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν + ω′β
W =

1−
√
1− v2

v2
√
1− v2

eβµνvµv̇ν . �&�&�

4�� ����� ���%�� �������� 
�� ���	
	�� ������/ ���!���	 �&��� ��!�	���!	�����

Ω′γ = a∗γα
1−

√
1− v∗2

v∗2
√
1− v∗2

eαµνv∗µv̇∗ν +
1

2
eαµγa∗µλȧ∗αλ =

= aγα
1−

√
1− v2

v2
√
1− v2

eαµνvµv̇ν +
1

2
eαµγaµλȧαλ.
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ΩT =
1−

√
1− v2

v2
√
1− v2

v × v̇ . �(��"

�
�� �
��� ����
�����
��	�
 �� ��� ��
 ���
	�� �
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	� T+∆T ���
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� ����
�� �������� ���%�#)�#�� �� ���
����# u = v� .�
���  ��
	� � ���/"

u → v, v → v +∆v

� ��������� ��� �%�� ����
��� *�%	

� φW ���� � 

 ������
 �������� ��� �	 
��
	

nφW =
1−

√
1− v2

v2
√
1− v2

v ×∆v.
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	&�
����� �����	
	��
Λα0 � �8�8"�  ��
	��� � �������2
��� ��
��
	�� �
�� ���	�
 ȧαβ ��%���	� �
��	
	�# ���;" � �
���%
 ��
��� ��
��
	�
 ��� ω′α � �8�4"� �� �������� ���

dΛα0

dt
=

aαν v̇ν√
1− v2

− 1−
√
1− v2

v2(1− v2)
(eαµνaνγaµλ)eλψϕvγvψ v̇ϕ +

aανvν(vv̇)
√
1− v2

3
+ eαβγΩ′γ vνaβν√

1− v2
.



�� ���� ������

������ ��	
� ��

����� ���
�� ����	��
��� v̇ν �� 	������� 
����
�� ���������

v̇ϕ =
√

1− v2aλϕW ′λ −
√
1− v2(1 −

√
1− v2)

v2
(vαaβαW ′β)vϕ,

������� 
��
��� �	 ����� � ����� �����
��� ������� ������!�"�� #�
�� �
�� ����
����$ ��������
���

dΛα0

dt
= W ′α 1√

1− v2
+ eαβγΩ′γ vνaβν√

1− v2
. �%�!�

��$
���� ����������� 
�� ����	��
��$ ���������� Λαµ �	 ����� �� �� ��$�� �� 
��
��&�� 	��'
�����

dΛαµ

dt
= W ′α vµ√

1− v2
+ eαβγΩ′γ

(

aβµ +
1−

√
1− v2

v2
√
1− v2

vµvνaβν

)

. �%���

(�������� �%�!� � �%��� 	���
�����
� � �
���$ ����� ���

dΛαi

dt
= W ′αΛ0i + eαβγΩ′γΛβi . �%�*�

+��������� ���
�
�&�� ����
������� 
�������,���� ���������� ���!� �������� ���

dΛ0i

dt
= W ′αΛαi. �%�"�
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i � ��
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